Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER — 4(NEW) « EXAMINATION — SUMMER 2018

Subject Code: 3340701 Date: 28-Apr-2018
Subject Name: Advanced Database Management System
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. €22l SlEURL Ulclotl ellol WU,
List out Transaction Control Commands.

2losat 52\ A sHISU ofl ALE] cAul.

Differentiate Grant and Revoke Command.

Aioe W IAdls sHIoSU AR cAsleld AUl

What is View ? What is the use of View ?

) Aed 9 ? @) oll Gullal vl

List out various types of Database Objects.

L YEL UslRall 32l vllosgseell el olotlcl.
Explain CREATE INDEX Command.

(52 Sd5U 5HleS AUHNLA.

What is Deadlock ? How it occurs ?

3scAls AeA 9 ? A dcll A wa d ?

Draw Functional Dependency (FD) Diagram with example.
$59otcd (3 WoSerll staualH Gelswl Al 1R\

What is Cursor ? List out the types of Cursors.

sAR Wed 9 7 el el UslRall 5AR ofl el cul.
Explain Concurrent Transaction with example.

SlosRoe 2lodhsol GELSQL AL AHestA.

What is Normalization ? Why it is needed ?

AdcsRaet Aed 9 ? Aol g ¥3laud & ?
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Q.2 What is Lock ? Explain different types of locks used in Transaction Control.
Ysl.? (1) s AeA Y ? 2exsAct A Hl EL EL UslRall s GELERNL

UL AHestA.
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OR
(@) Discuss the advantages of PL/SQL over SQL.

@) ArsyAcoll waHl Ul-Act NsAA oll SLAEL AHALAL.

(b)  What is Exception ? Explain Pre-Defined and User-Defined Exception.
()  AsAW WA g ? YI-B51805 AsA el W 43R-(351805 WsAWLal
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OR
Explain different control structures used with PL/SQL.

Y-l AR AU cAURLAL YEL YEL S A RSURA UM,
What is Cursor ? Explain Static Cursor and Dynamic Cursor with example.
sAR Aed 9f ? RWls 5AR A sisaAMs 572 GelgnL WUl AHA.

OR
What is Database Trigger ? Explain the types of Database Trigger.

SR WeA 9 ? WEL YEL USIRall 3283 Zlork Belgwl ]
quesal.

What is Package ? Explain the Package with example.
UE03 Aed 9 ? UF) Gelewl Ul AHstAl

OR
Explain Procedures and Functions with example.

$59ctd Wl YRS Gele0L AUl Al

What is Functional Dependency ? Explain Functional Dependency with
example.

§52lolcd (SUosoll W2 9 ? $520cd (SUosaA GelewL Al

Mgl

OR
Explain any six rules of Armstrong’s Axioms for Functional Depenencies

$59olct (3WoSorll HIotl wHRRNOL A e201dell 5185 URL 9 [Aaun

AHosL Al

What is Full Functional Dependency ? Explain Full Functional Dependency
with example.

$ct §52otct (SUoseRll AN2A g 7 gt $52elct (UoseR{L GElERQL L

AHesL Al

OR
What is Closure ? Explain Closures of a set of Functional Dependencies.

SN AeA 9 ? $52ad [(Uosaloll AN A2 oll Gelgwl wil

JRICEN
Explain Lossy Decomposition with example

AR (353:008l2tet GeleWL AUl UM AL
OR
Explain Dependency-Preserving Decomposition with example.

3Uesell Yloncllot (351008l atet Gelswl Ul UM
Explain Lossless Decomposition with example.
AR(-A (3530 atet Gete0l AUl UM,

OR
Explain Redundant Function Dependency and remove the Redundant
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Functional Dependency from the following set.
{A->BC,B->C, A>B, AB>C, AC>D}

Asse2 5l 3SR UHA A WA o Actt AeHill Asse2

$52lolcd (3Uosoll £2 52
{A>BC, B>C, A>B, AB>C, AC>D}

What is Normalization ? Explain 1NF with example
AldclsRact NeA 9 ? INF Gele0l wUl Auostal.

OR
Discuss the problems in 1INF and How to solve it using 2NF. Explain it with
example.

INF HL Ul Ygloll A1 530 1l Aal 2NF Ul 3l dla G3cll asta A

ALl

Write a PL/SQL code block to find out the factorial value of given number
using functions.

g5l AUAA dlolR ofl FsARAA Ay Ml H ol Y-t

AsA A sls Al

OR
Write a PL/SQL code block to find out largest number out of three numbers.

AR oloRHil Al 1A ook ucl HR ol Ul-Act AsyAA 5lS
AWl
What is Concurrency ? Explain different methods for Concurrency Control.

slotsoll ANeA g ? Slotsall s3lctoll el el UsRell Ras
Al

Write a PL/SQL code block to find out the factorial value of a given number
using procedures.

WRBY U oluR ol ¥s2uct Ay ual H2 ol Yl-Ad
AsyAA sls Al

Explain the ACID properties of Transaction Processing

2lodslel YWARDLL Hizoll ACID WUREl% AHestal.

How to determine redundant functional dependency from the given set of FDs
? Explain it using algorithm.

WA $5A 3 UoS{loll AeHIY Assee §52eict (Vo5 cll
A atssl 531 asta ? A AN uHo(l Heedl UM

Explain Trivial and Non-Trivial Dependency with example.

gllact wal ollot-Zlfladt §52ald (SUesaR{l UM
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